DBPFFEALEOWARRE Y ES

IR P HEFRNRE (ERMERRTHEERNRR)

BH202054R18H ZE202143H318

(BRI M)
NEBEMEER - ~s
A BREE 5 EAEH AR
IMBERMERBOB ol
1R EIZBOE
(1) B E I
EXGEERD 2,000 2,000 0 2,000
BEEEERRE 700 700 0 700
A8 EMERNG 1,050,000 1,050,000 0| 1050000
........... T < A O Y Y S——
SWEMS 7,323,000 7,323,000 488,000 7,811,000
AR 300 300 0 300
FEIREE 8,376,000 8,376,000 488,000 8,864,000
(2)BREER
EE3
= v T 1980000 | - 1980000 | e 1,980,000
EBHEAE 300,000 300,000 300,000
=iE 100,000 100,000 100,000
e SRESBE ) 300000 ] 800000 | 300,000
BIEERE 300,000 300,000 | 300,000
HEMRERE 30,000 30,000 30,000
o BE®RE 50000) 90000 | 50,000
FRIEAZ 100,000 100000 | T 100,000
FrT4BEIH 200,000 200,000 200,000
>, S 100000 | 100000 ] 100,000
i=Li3s! 576,000 576,000 | [T 576,000
1)— 2% 120,000 120,000 120,000
. N 100000 | 100000 ] 100,000
HEAE 50,000 50000 | [T 50,000
XihBiEE 20,000 20,000 20,000
N1 S A 3900000 | 3900000 | 3,900,000
HHEE 50,000 50000 | T 50,000
RitE 100,000 100,000 100,000
HE 0 0 0
THE
% B RN 120,000 120,000
RiE 10,000 10,000
WRERXEE 30,000 30,000
BIEERE 5,000 5,000
HEMRERE 0 0
o Ame® b 5000 ! 5,000
FRIMAE 10,000 10,000
FeEKE 18,000 18,000
o EER I 144000 144000
1)— 2% 30,000 30,000
M 60,000 60,000
L7 T B S 5000| 5,000
HRE 50,000 50,000
b Z/N-EiEE 1,000 1,000
BEER 8,376,000 8,376,000 488,000 8,864,000
STl I8 A5 S SR AT L AR R A 0 0 0 0
EAMEMERSE 0 0 0 0
___________ e T N ) 2 A
LR BB 0 0 0 0
2 BESMER DL
______ SOL e S S R N ———
FE IR ET 0 0 0 0
(2)BRENER
___________ e Tas L A N ) A} A
LR oM EREE 0 0 0 0
IR 0 0 0 0
0 0 0 0

CRIRHERE RS

616,928

616,928

616,928

—RERMERRES

616,928

616,928




ABBREERT

B BREE N i i
I EEERMERBEON
SMEME 3,650,000 3,650,000 0 3,650,000
—ARIERREA EE~ DIREEE 4,350,000 4,350,000 0 4,350,000
L HAYE TE IE R B EE R R EE A 700,000 A 700,000 0 A 700,000
fEEERMEHEES 4,112,946 4112946 0 4112946
___________ EERMEMARS | 3412946 3412048 0| 3412946
I EsMESRES 4,029,874 4020874 of 4029874




